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=2 | €5, €6 min. 1| ce 1] ce
A | 452 ke/s-32000 pF g1B1 | [5] | -25 pF—aB1 [5] | -25 pF—aB1
{15 | s14—80 pF ] [() 20,5 Mejs ] [ () 62 Mcjs
() | s16, 15, 530, S13 max. | A | 20,5 Me/s— o | 62 Meps— Y
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[>] | -25 pF—aBl [>] | -25 pF—aBl == | @, 6 () 857 kejs
[&] |(7) 1735 ke/s Bl [() 385 ke/s Al O ssom
A [ 1735 kejs— Y 7 | 385 kefs— \|/
725,06 () 1735 ke/s | 22| €5,€C6 () 385 ke/s
] ce ] ce
i3 i
()| €18 max. | (") | €49 max. |
[»] | -25 pF—aB1 [>] | -25 pF—aB1
| ce | ce
o] [() 600 ke/s ] [() 150 ke/s
A7 | 600 kes— Y A | 150 ke/s— \}/
22| €5, €6 () 600 kefs Z2| €5 ¢6 (7) 150 ke/s
| ce 7| ce
= =
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Bl B2 B3
ECH 3 EBF 2 EL 2
aH 175
Va AT 65 70 170
Vg2 60 50 175
aH 0,6
Ia aT 3.6 1,9 16
152 1,2 0,6 2,8
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A vor o A A
a1 50 uF | 49020010 || R1 | 18000 « | 49376 39.0
c2 50 uF | 49020010 || R2 0,82 MQ | 4937559.0
c3 45 yF | 49032010 || R3 22 | 49375040
c4 32 uF | 28182400 || R4 180 O | 4937515.0
c5 | 11-490 pFy | 28212520 || RS | 47000 O | 49375 440
C6 | 11-490 pFy R7 15 MQ | 49376 62:0
c7 2pF | 28206610 ||R8 | 68000 O | 49376 46.0
c8 4,7 pF | 19055120 || R10 3,9MQ | 4937767.0
c9 12 pF | 49055170 || R11 2,7 MQ | 49377 65.0
C9a 22 pF | 49055610 [|R12 | 0,82 MO | 493753590
10 100 pF | 49055280 [[R13 | 018 MO | 49373510
11 18 pF | 4905519.0 || K14 1,8 MO | 49377 63.0
c12 | 18000 pF | 49120170 || R15 | 0,47 MO | 4937556.0
a3 | 18000 pF | 49120170 JIR16 | 0,65 MQI | o200 1000
c14 | 68000 pF | 49129620 |[R16a| 0,2 MO -
cl1s 100 pF | 49055280 || R17 | 56000 O' | 49376 45.0
Cl16 20 pF | 49005052 || R18 0,3 MQ)
a7 20 pF | 4905505.2 || R18a | 0.3 Mnf 49470 39.0
18 20 pF | 49005052 || R20 | 0,18 MQ' | 49375510
c19 200 pF | 28212081 || R21 330 O | 49375180
€20 5000 pF | 49081820 ||R22 | 1000 O | 49375 2400
c21 1600 pF | 49080340 || R23 | 1200 O | 49375 25.0
c22 400 pF | 49080 010 || R24 0,1 MO | 49375 480
c23 0,1 uF | 49128260 |[R25 | 1000 ¢ | 49375240
c24 | 22000 pF | 4912759.0 || R27 | 0,68 MO | 49375580
25 100 pF R28 | 15000 O | 49375 38.0
c26 100 pF R29 2,7 MQ | 49377 65.0
c27 | 47000 pF | 19127610 || R30 01 MO | 49375480
c28 | 18000 pF | 49127170 || R33 35 O | 4935546.0
€29 330 pF | 49055 34.0
€30 027 uF | 49128310
c31 106 pF
32 113 pF
€33 100 pF | 49055 28.0
34 8200 pF | 4912813.0
c35 | 39000 pF | 49128 21.0
36 01 yF | 49127630
€37 25 uF | 49020 00.0
38 680 pF | 49128 50,0
€39 1000 pF | 49129 80.0
40 50 uF | 49020 01.0
c41 56 pF | 49055 25.0
42 0,18 yF | 49127 29.0
c43 39 pF | 49055110
Ca4 01 uF | 49127630
c45 | 47000 pF | 49128 2210
C45a 0,1 .F | 4912826.0
46 180 pF | 49 055 31.0
47 22 pF | 49055 20,0
49 20 pF | 49005 05.2
€50 39 pF | 49055230
51 32 pF | 28212 06.0
52 120 pF | 9055 29.0
c54 | 39000 pF | 49127210
55 6,8 pF | 49055 14.0
57 150 pF | 49 055 30.0
s1, s2, $3, S4 A1035611 || s19 28 220 51.0
S5, S6, 525, 526 A103574.0 || s20, s21 A110327.0
s7, S8, 59, S10 A1035635 || s22 28 588 73.0
S1l, s12, 527, 528 | A103575.0 || s23 'A1000 26.0
S13, S14, €25, C26 | A103567.3 || s24 A100029.0
S15, S16, S30 s31 28 546 63.0
31, €32 AL03568.5 || s32 28 588 03.0
s17, s18, $29 A110321.0

93 950 07.1
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